ﬂ‘iges) Reg. NO- : ---------------------------------------- 3' — iS Consider aS a Retarding factor for
development of an economy.
sde No. : 22149 E Sub. Code : CABF 21 (a) Population growth

(b) High productivity
B.Com. (CBCS) DEGREE EXAMINATION, (¢) High income
APRIL 2022. -
(d) Full employment
Second Semester

4. India is based country.
Banking and Finance — Allied ) :
(a) Industrial (b) Capital
INDIAN ECONOMY (¢) Agriculture (d) None of these

(For those who joined in July 2021 onwards) One of the ways to solve the food problems in

_e : Three hours Maximum : 75 marks India is

(@1

PART A — (10 X 1 = 10 marks) (a) Intensive agriculture

. (b) Family planning
Answer ALL questions. o
(¢) Improved distribution system

(d) All of these

Choose the correct answer :

The Economic factor determine the development is : . ‘
6. One of The major industries in the Indian
(a) Natural resources (b) Political factor conomy 18

(c) Religion (d) Culture (a) Cracker industries
(b) Textiles industries

Example for developed economy () Hotel industries

(a) Africa (b) Japan (d) Pickle industries
(¢) Somalia (d) India
Page 2 Code No.: 22149 E
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New industrial policy established in the year PART B -~ (b x 5 = 25 marks)
. Answer ALL questions, choosing either (a) or (b).
(a) 1981 (b) 1991 Each answer should not exceed 250 words.
(¢) 2001 (d) 2011

11. (a) Give the meaning and definition of Under

are those industries in which Development.
production, manufacturing and providing the Or
services are executed on a small or micro scale. (b) List down the non-economic factors for
(a) Medium scale (b) Small scale _ development.
(¢) Micro scale (d) Large scale 12. (a) Brief about Population growth and Human
Resource.

The differénce between all money flowing into the

country in a particular period of time and the Or .

outflow of money to the rest of the world is called (b) State the concept of National Income.

as 13. (a) Write down the reasons for Food Problems in
(a): Balance of payment India.

(b) Gross domestic product Or

(©) Per capita income (b) Point out the Features of Indian Agriculture.
(d) Industrial income 14. (a) What do you mean by Industrial sickness?

Or
(b) Write about New Industrial Policy 1991.

is the last Five year plans.

(a) 9t Five year plans

(b) 10% Five year plans 15. (a) Write a note on Balance of Payment.
(¢) 11t» Five year plans ' Or
(d) 12t Five year plans (b) Expand GATT and its evolution.
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Fach answer should not exceed 600 words.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Explain the Economic factors as Determinants
of Under Developed economy.

Or

Enumerate the Characteristics of under
development.

Explain the methods to Measure the National
Income.

Or

Narrate the demographic Transition Theory.

Elucidate the methods to Improve
Agricultural Productivity.

Or

Describe the role of Agriculture in Indian
Economy.

Discuss the Remedial Measures for Industrial
Sickness.

Or

Fxplain the contribution of Major Industrial
Sector in Indian Economy.
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20.

(a) Delineate the theme of 11* and 12t five year
Plans in India.

Or
(b) Elucidate WTO and Indian Economy.

Page 6 Code No. : 22149 E



	bcc6c934397e53bda1c9d1885e037a80110a62cbc40727c9ccfa4b1123b685fa.pdf
	bcc6c934397e53bda1c9d1885e037a80110a62cbc40727c9ccfa4b1123b685fa.pdf

